| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
T T e e
028 b
e
O

effi

T e
005
o+

v b b b b bgrr b b faa i

Rati

i

=
!

09 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DOQM_mKFIt_TTorigmal
— —e— DQM_mkFit_TToriginal-106
| Efficiency vs Dz | —«— DQM_mkFit_ TTNEWHSMS95_ALLITERS-106

05 —i— DQM_mkFit_ TTNEWHSMS90_ALLITERS-106
N U. . T T .

T R S PR R -
> . . . . .

L e i
@) r : : : . .
.35 o Frrereree frorereeeee A
R 5 5 5 5 5

O e e R

7 R T ———
02 b
: It BB A :

530 =2 i y 10 20 30
TP dz (cm)



	Contents
	Page 1


